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d=25;
% choose d random vectors in R*n, with normally distributed coordinates
vectors = randn(n, d)

A = vectors; CD B = vectors;
fori=1:d fori=1:d
forj=1:i-1 ek ¥ B(:,i) = B(:,i) / sqrt(B(:,i)' *B(:,i));
A(LD) = AGTD - (A *AGT) * AGL); ’%f%b\’:\;\; forj=i+1.d
end A Bl = () - (B °BL) * B
A(:i) = A(:,) / sart(A(:,i) *A(:,i)); end ok swgeqUun
end end \%c S{:: \:f‘-l-
coluwmn> g
Jo cdumn ¢
Chece re answer:
A'*A sum(sum(abs(A-B))) —> O ’/

ans =

1.0068e+88  4.55YZ2e-17  3.1Z2Re-17 -9.714Be-17  §.3Z67Te-17
4.8672e-17  1.88082+08  4.83RVZe-17 -T7.0328e-17  -b.BR11e-17
3.122Re-17 4.85YZe-17  1.0080e+BB  7.38503e-17 -1.3373e-17
-9.7145e-17 -7.63283e-17  7.0803e-17  1.B08He+BR  3.4694e2-17
g.3267e-17 -5.BB11e-17 -1.3373e-17 3.4694e-17  1.6080e+88
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